%_" o ’ P
%panment of =~
Mathematic:i;)
O ., »

INDIAN SCHOOL AL WADI AL KABIR

Class XII, Applied Mathematics Worksheet 2-Algebra
10-04-2023

1. If Ais a square matrix such that (A - 2I) (A+1) = 0. then 4~ *is

(@)= () %=
[C)2[A-T) (d)24+1
1
2.IfA=|0 1 0| then A* +2A equals
0 0 1
[a) 4A (b) 34
[c) 2A (d) A
3. It i t ; 22;_:-5] = [3 1::]] . then the values of % y. z and w respectively are
(a)2.2.3.4 (b)2.3.1.2
[c)3.3.0.1 (d) None of these
I
4. If A = [a;;] is a matrix of order 2, where a;;= ':H': ' thenAis equal to
25 ==
(a) (b) [2 2
s 1o ] g 18
9 25 - =
©) ] @ [z =
9 4 9
5. A square matrix A = [a;;] of order n is called a lower triangular matrix if a;; = 0 for
(a)i=] (b)i<]
(c)i=j (d) None of these
6. Asquare matrix A = [a;;] of order n is called a diagonal matrix if a;; = 0 for
(@)i=j (b)i<]
(c)i=j (d)i= j

7. For any square matrix A, AAT isa

(a) Unit matrix
() skew-symmetric matrix

(b) symmetric matrix
(d) diagonal matrix

8. If a matrix A is both symmetric and skew-symmetric, then

(a) A is a diagonal matrix (b) A is zero matrix
(c) Ais a scalar matrix (d]) Ais square matrix
9.If A = diag(3, -1), then matrix A is
0 3 -1 0
@ 'o -1] ® |3 oI
3 0 3 -1
© [o : 1] @ lo o‘
10. Total number of possible matrices of order 2 x 3 with eachentry L or 0 is
(a)6 (b) 36
(c) 32 (d) 64
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11.If A is a square matrix such that A*=A, then (I + A)* - 3Ais
(a)l (b) 2A
(c)3I (dA

12.If matrices A and B are inverse of each other then

(a) AB = BA (b)AB=BA=1
(C)AB=BA=0 (d)AB=0,BA=1
13.IfA=[g g],thenﬁs
0 4 4 0

@l @, o
©[o al @[p 4
14.1fA= f % lndA=A'then
(a)x=0,y=5 (b)x=y
(c)x+y=5 (dx-y=5

3 iy 2
15.1If A=[4 5 Z} then the value 3a,, — 4a,, is

1 3
(@1 (b) -1
(90 (d) 2
16.lfA=[g @] then Ase is

0 a
@1y o (b) [g ol
(o) [2 g (d) None of these

17.1f a matrix A= [8 (2)] and f{x) = 14x+x2 + x* + x® + x*¢ then f(A) is

00 i 2
@ [ 0 ®[ i
@[5 nl 2 . (d) None of these
£ = a :
18. IfA= [ 3 4] and kA = [2 b > 4], then the values of k, a and b are respectively
(a) -6.-4,-9 (b) -6.12,18
(c) -6,-12,-18 (d) -6.4.9
0 & =3
19.Ifthematrix4 = |2 0 —1|isskew symmetric matrix then
b1 0
(@)a=0,b=5 (b)a=—2,b=3
(c)a=2,b=-3 (d) None of these

20. If A is matrix of order m x n and B is a matrix such that ABand BAT are both defined. then
order of matrix B is

(amx=m (b)nxn
(c)nxm (dymxn

3 -2 7
21.The matrixA=|—2 1 —3lisa

7 =3 5
(@) Symmetric Matrix (b) Skew-Symmetric matrix
(c)Diagonal Matrix (d) Scalar Matrix

_(2x —-X T _ _

2284 = (%7, 7% ) and A+ AT = I, then x =
(@) 0 (b) 1
(c) % (d) none of these
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23, 1fA=[‘y‘ _ﬁa] Is such that A* = I then

(a)l+a*+ By =0
()1-a*—fy=0

0 -5 7
24. ThematrixA=|5 0 3
-7 =3 0
(a) Symmetric Matrix
[c)Diagonal Matrix

25.The matrix A=

noo
owno
o own

[a) Scalar matrix
(c) Unit matrix

]isa

(b)1-a® +fy =0
(@)1+a®>— By =0

isa

(b) Skew-Symmetric matrix
(d) Scalar Matrix

(b) Diagonal matrix
(d) Square matrix

26.If A and B are 2 x 2 matrices, then which of the following is true?
(a) (A + B)*=A*+B* +2AB (b) (A—B)*=A*+ B* —2AB
(c)(A-B)(A+B)=A?+AB-BA-B? (d)(A+B)(A-B)=A2-B?

27.1fA,Band Care three matrices of order 2 X 3,3 x 3 and 2 X 3 respectively,then order of AB + C =

a) 3x3 (b)2x2
(c) 2x3 (d) none of these
_[1 0 _[1 O .
28. IfA= [1 1] and B = [2 1] then AB is
1 0 1 0 1 0 1 0
3) [0 1 b) [3 1 2 [0 3 a9 [0 0
x+y+ g
29. If x+y Z-| = lEI then the value of (x v. z) is
ytz 7

(a) (4.3.2) L) (3.2.4)

(c) (2 3.4) (d) None of these

3 2 X
30.[1 = 1] Iﬂ 51 [ 1| =0 then the value of x is
) 0 3 2]L-2 ,

(a) —3 (b) 3

(1 (d) -1

ANSWER

1 a 7 b 13 d 19 25.

2 b 8 b 14 b 20 26.

3 a 9 c 15. b 21. 27.

4. b 10. d 16. a 22. 28.

5 b 11 a 17 b 23 29.

6 d 12 b 18. a 24 30.

Worksheet 2/Class XI1/Applied Mathematics




